[bookmark: _GoBack][image: ]
image1.png
Spring Term 1 Answers

Place a semicolon between the two
independent clauses in this sentence.

The Lancaster Bomber was a popular
aircraft used in the Second World
War; it became the RAF's main bomber
during the battle.

Put the commas in the correct
places within these sentences:

Koalas, which are native to Australia,

usually live in a eucalyptus forest
habitat.

The fun-packed brownie camping trip
involved climbing, archery, raft-building
and fishing

divided dense varied frequently
Replace the appropriate words in the
text with synonyms from the list above.
One is done for you

The Earth's crust is split up into
tectonic plates of different shapes and
sizes. The plates are made of selid rock
Earthquakes and volcanic eruptions
often occur on plate boundaries.

split - divided

different - varied

‘Grandmother Of Eight Makes
Hole In One!

Why is this newspaper headline
‘ambiguous?

Accept an explanation about how

the headline could be misconstrued
and people may think that the
grandmother made a hole in one of her
cight grandehildren!

Are the underlined words a noun  \&

phrase, a prepositional phrase or
subordinate clause?

1f there is heavy snowfall overnight, we

can build a snowman in the morning
subordinate clause

The children wrapped up warm outside
in the cold.

prepositional phra:

Mr Whoops has been juggling with \J_
the letters from one of his Year 6
spelling words. Can you spot what it is?

prejudice





